U.S.P.A.P. Compliant



BASIS OF VALUE: LARGER - POLISHED - Fine Goods

TheDiamondGrader

3.37 to 1.13 carats

Quan.	Weight cts.	<u>Shape</u>	Color	Treatment	\$\$/Carat	Wholesale Value
(1)	3.15	Cushion	bluish Green	None	6,700	\$21,105
(1)	2.606	Rect. Cushion	bluish Green	None	5,000	\$13,030
(1)	2.503	Oval	Deep greenish Blue	None	6,000	\$15,018
(1)	2.256	Trillion	Deep Peacock Blue	None	5,700	\$12,859
(1)	2.25	Round	AGL - Green	"AGL – Heated"	725	\$1,631
(1)	2.16	Rect. Bril. Radiant	AGL – Blue	"AGL – Heated"	3,000	\$6,480
(1)	1.982	Oval	Deep greenish Blue	None	3,700	\$7,333
(1)	1.768	Oval	Deep Blue-Green	None	2,250	\$3,979
(1)	1.67	Oval	Intense purplish Pink	Heated	600	\$1,002
(1)	1.64	Cushion	Medium Teal	None	1,800	\$2,952
(1)	1.60	Sun Twist AG	L– grayish greenish Blu	e "AGL- Heated"	1,400	\$2,240
(1)	1.365	Oval	Teal	Heated	1,700	\$2,320
(1)	1.36	Oval	pinkish Purple	Heated	500	\$680
(1)	1.36	Emerald Cut	Deep pinkish Brown	Heated	1,200	\$1,632
(1)	1.34	Oval	bluish Green	Heated	350	469
(1)	1.28	Round	Deep Blue	Heated	400	512
(1)	1.27	Emerald Cut	Deep greenish Blue	Heated	1,500	\$1,905
(1)	1.21	Oval	Deep Blue	Heated	1,700	\$2,057
(1)	1.13	Pear	Fancy Lt. Pink	Heated	800	904

(19) Stones 32.54 Carats ______

Total Wholesale Value: \$98,108

2,320

Michael Louis Hutton, PG (IGS), GD (GIA) 7234 Eldora Avenue Las Vegas, Nevada 89117 USA

Cell with texting: (702) 635-7926 email: michael@diamondgrader.com web: www.diamondgrader.com

U.S.P.A.P. Compliant



BASIS OF VALUE: SMALLER - POLISHED - Fine Goods

0.988 to 0.60 carat

Quan.	Weight cts.	Shape	Color	Treatment	\$\$/Carat	Wholesale Value
(1)	0.988	Oval	Deep pinkish Violet	Heated	1,000	\$988
(1)	0.948	Round	Medium Teal	Heated	525	\$497
(1)	0.941	Round	Blue-Green	Heated	450	\$423
(1)	0.89	Oval	Lt. bluish Violet	Heated	325	\$289
(1)	0.813	Oval	Lt. Purple	Heated	350	\$284
(1)	0.81	Round	Deep orange Pink	Heated	1,000	\$810
(1)	0.80	Hexagonal Radiant	Med. grayish Blue	None	1,350	\$1,080
(1)	0.76	Rect. Step Cut	purplish Violet	None	400	\$304
(1)	0.697	Oval	Deep purplish Pink	Heated	900	\$627
(1)	0.69	Oval	Lt. pinkish Violet	Heated	400	\$276
(1)	0.66	Oval	pinkish Violet	Heated	1,100	\$726
(1)	0.60	Oval	Green	Heated	450	\$270

(12) Stones 9.597 Carats

Total Wholesale Value: \$6,574



Michael Louis Hutton, PG (IGS), GD (GIA) 7234 Eldora Avenue Las Vegas, Nevada 89117 USA

Cell with texting: (702) 635-7926 email: michael@diamondgrader.com web: www.diamondgrader.com

U.S.P.A.P. Compliant



BASIS OF VALUE: LARGER - POLISHED - HEATED

	BASIS OF VALUE: LARGER – POLISHED – HEATED						
3.0	3.00 to 3.37 carats						
(1)) Round) Oval) Oval) Emerald	Teal Teal Deep yellowish Green Teal	3.25 cts 3.07 cts 3.37 cts 3.24 cts [12.93 cts]	\$2,500/ct \$2,500/ct \$500/ct \$2,500/ct [\$1,979/ct avg.]	\$8,125 \$7,682 \$1,685 \$8,100 [\$25,592]		
2.0	00 to 2.99 ca	arats					
(1 (1 (1 (1) Round) Oval) Oval) Oval) Oval) Round	bluish Green grayish Green Deep bluish Green greenish Gray Lt. bluish Green Teal	2.95 cts 2.53 cts 2.35 cts 2.10 cts 2.09 cts 2.06 cts [14.08 cts]	\$650/ct \$210/ct \$500/ct \$300/ct \$285/ct \$500/ct [\$417/ct avg.]	\$1,917 \$ 531 \$1,177 \$ 630 \$ 595 \$1,030 [\$5,880]		
1.7	70 to 1.99 c	arats					
(1) (1) (1) (1) (1) (1) (1) (1)) Round) Oval) Round) Oval) Oval) Oval) Round) Oval) Oval) Trillion) Oval	greenish Blue grayish Blue Deep bluish Green Lt. grayish Green Padparadscha Lt. grayish Blue Teal Deep greenish Blue bluish Green Lt. bluish Green Lt. grayish Blue violetish Blue	1.95 cts 1.95 cts 1.88 cts 1.86 cts 1.84 cts 1.80 cts 1.78 cts 1.77 cts 1.76 cts 1.76 cts 1.72 cts	\$700/ct \$600/ct \$350/ct \$410/ct \$1,500/ct \$ 450/ct \$ 450/ct \$ 600/ct \$ 450/ct \$ 950/ct \$ 700/ct	\$1,062 \$ 792 \$1,672		

Michael Louis Hutton, PG (IGS), GD (GIA) 7234 Eldora Avenue

Las Vegas, Nevada 89117 USA

[21.87 cts] [\$720/ct avg.]

[\$15,756]

U.S.P.A.P. Compliant



BASIS OF VALUE: MEDIUM - POLISHED - HEATED

1.50 to 1.69 carats in zip lock bag

(1) Oval	Teal	1.68 cts	\$400/ct		\$ 672
(1) Prin	greenish Yellow	1.68 cts	\$500/ct	237	\$ 840
(1) Oval	Lt. greenish Yellow	1.62 cts	\$450/ct		\$ 729
(1) Round	Lt. greenish Yellow	1.60 cts	\$400/ct		\$ 640
(1) Round	Lt. greenish Blue	1.58 cts	\$450/ct		\$ 711
(1) Prin	Deep bluish Green	1.57 cts	\$300/ct		\$ 471
(1) Emer	bluish Green	1.57 cts	\$500/ct		\$ 785
(1) Oval	Teal	1.54 cts	\$650/ct		\$ 1,001
(1) Oval	bluish Green	1.53 cts	\$450/ct	6	\$ 688
(1) Oval	yellowish Green	1.52 cts	\$400/ct	6	\$ 608
(1) Oval	greenish Yellow	1.51 cts	\$400/ct		\$ 604
(1) Oval	Deep grayish Green	1.50 cts	\$300/ct		\$ 451
(12) Stones		[18.90 cts]	[\$433/ct avg.]		[\$8,200]

1.36 to 1.49 carats in zip lock bag

1 11				_		
(1) Round	Lt. grayish Blue	1.49 cts	\$ 450/ct	•	\$ 670	
(1) Oval	Deep brownish Pink	1.47 cts	\$1,100/ct		\$ 1,617	
(1) Oval	grayish Blue	1.44 cts	\$ 800/ct		\$ 1,152	
(1) Oval	Deep greenish Blue	1.42 cts	\$ 900/ct		\$ 1,278	
(1) Oval	Deep bluish Green	1.42 cts	\$ 275/ct		\$ 390	
(1) Round	greenish Blue	1.41 cts	\$ 325/ct	4	\$ 458	
(1) Emer	Deep greenish Blue	1.41 cts	\$1,500/ct		\$ 2,115	
(1) Oval	Teal	1.37 cts	\$ 700/ct		\$ 959	
(8) Stones		[11.43 cts]	[\$755/ct avg.]		[\$8,639]	
=========						=

Michael Louis Hutton, PG (IGS), GD (GIA) 7234 Eldora Avenue Las Vegas, Nevada 89117 USA

U.S.P.A.P. Compliant



BASIS OF VALUE: MEDIUM - POLISHED - HEATED

1.20 to 1.35 carat stones in zip lock bag @ \$325 per carat

Quan. (6)	Shape Mixed	Color Teal, Blue, greenish Blue	Total Carats 7.68	Avg. Wt./stone 1.28 cts.	Wholesale Value \$2,496
(9)	Mixed	Greens, bluish Green	11.38	1.26 cts.	\$3,698
(3)	Mixed	Yellowish, Greenish, Brownish	3.993	1.33 cts.	\$1,297
(3)	Mixed	Violetish, Purplish	4.03	1.34 cts.	\$1,310
				===========	=========

(21) Stones Total cts. = 27.08 cts. Avg. Wt./stone = 1.289 cts. avg. Total Wholesale = \$8,801





Michael Louis Hutton, PG (IGS), GD (GIA) 7234 Eldora Avenue Las Vegas, Nevada 89117 USA

U.S.P.A.P. Compliant



BASIS OF VALUE: MEDIUM - POLISHED - HEATED

1.00 to 1.19 carat stones in zip lock bag @ \$400 per carat

Quan. (9)	Shape Mixed	Color Teal, Blue, greenish Blue	Total Carats 9.67	Avg. Wt./stone 1.07 cts.	Wholesale Value \$3,869
(8)	Mixed	Greens, bluish Green	8.76	1.095 cts.	\$3,504
(4)	Mixed	Yellowish, Greenish, Purplish	4.30	1.075 cts.	\$1,720

(21) Stones Total cts. = 22.73 cts. Avg. Wt./stone = 1.08 cts. avg. Total Wholesale = \$9,093





Michael Louis Hutton, PG (IGS), GD (GIA) 7234 Eldora Avenue Las Vegas, Nevada 89117 USA